il'((e)m Series : [ 10. 13. 15. 16. 3.], erreur Mk 0 = 369.794638811i|’6r(n)p Series : [ 10. 13. 15. 16. 12.], erreur Mk 1 = 389.97197211
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63861Temp Series : [ 10. 13. 15. 16. 2.], erreur Mk 5 = 444.894531372
! ! ! ! ! ! ! ! 10 | I I I I I I I
BO sk 80,
60 NN R AN 60}
40t e X 40
20[: 5 : : : : 20 ! . : : : : :
0 . ] ok l l l | | . ]
Tencﬁ)p Series : [ 10. 13. 15. 16. 17.], erreur Mk6=446.41833444j|:¢(2)m Series : [ 10. 13. 15. 16. 8.], erreur Mk 7 = 447.502279902
I I I I I I I I
BOf i 80E.
60\ : 60
40 NG 40
20 : s : E E E 20 s : : : : :
o4 l l | | | ] ] o4 l l | | | ] ]
Temp Series : [ 10. 13. 15. 16. 1.], erreur Mk 8 = 450.868033938Temp Series : [ 10. 13. 15. 16. 19.], erreur Mk 9 = 454.040105018
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